@ Teachingninja.in

DSSSB PRT 11 Nov 2019 Shift 2 Paper

W Latest Govt Job updates
* Private Job updates
* Free Mock tests available

Visit - teachingninja.in

@Teacningninia.in



GOVT. OF NCT OF DELHI

Delhi Subordinate Services Selection Board
FC-18, Institutional Area, Karkardooma, Delhi — 110092.

www.dsssb.delhigovt.nic.in

Test Center Name  [iON Digital Zone iDZ 1 GT Karnal Road

Test date 11/11/2019
Test time 12:30 PM - 2:30 PM
Subject ASSISTANT TEACHER PRIMARY

Section: Mental Ability

Q.1 Risthe son of H. T is the sister of L and R. K is the son of L. How is K related to H?

Ans x 1. son

‘f 2. grandson

x 3. uncle

)( 4. Husband

[ Question ID: 99836739431

Q.2 In the following question, select the related letters from the given alternatives.

GL: BF :: RJ:?

Ans o 1.MD
X 2.ND

X 3.ME

X 4NE

Question ID: 99836739428

Q.3 How many plastics are green in the following diagram?

Ans X111
X 2.8
537
W45
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l Question ID: 99836739439

Q.4 Eightgirls A, B, J, K, P, R, L and T are sitting around a circular table facing the center (not
necessarily in the same order). J is sitting opposite to P. Either A or B are immediate
neighbors of K. T and L are immediate neighbors. J is second to the right of K. Either T or
L is to the immediate right of J. If A is to the immediate left of P and L is to the immediate
left of A, then which of the following statements about R can be true?

Ans X 1.Kis second to the right of R
/X 2.Ris between K and B.
(' 3. Jis to the immediate right of R.

/X 4.Ris opposite L

[ Question ID: 99836739433

Q.5 Inthe following question, select the related number from the given alternatives.
46:22:78:7
Ans X' 1.36
W 238
75 3.34
X 4.32

Question ID: 99836739436

Q.6 In the question given below are given some statements followed by some conclusions
based on those statements. Consider the given statements to be true even if they differ
from commonly known facts. Read all the conclusions and then determine which of the
given conclusions are rational based on the given statements.

Statements:
I.NoJisR.

II. NoRisW.
lll. AW are K.

Conclusions:

. NoKisR.
I.LNoRisJ

lll. Some W is not R.

Ans X" 1.No conclusion follows
25 2. Only conclusion Il follows
/X 3. Both conclusions | and Il follow

f 4. Both conclusions Il and lll follow

[ Question ID: 99836739435
Q.7 A sequence is given, one of which is incorrect. Choose the wrong term from the given
alternatives.
14,7, 8,10.5, 21

Ans X 1.7
X 2.105
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X 314
o 48

[ Question ID: 99836739437

Q.8 & wE srrepfar # fre Proget 87

Ans X' 1.18
X 2,15
X 37
W 416

Question ID : 99836739443

Q.9 i Ry 7T v d o FUT R IS a1E I FUA R AU Fo e g 1g &1 Ry g
HYH] St g AR, TAT@ ITH T AT a2l @ Rgar gh 9ot Ao ug ofik R RruffRa o fn
g g = @ fAeepd, Ry g @Al & emuR wR giha &1

U
|. =¥E TeT, Bter g &1
Il. 7 B, a1 &1

forserd:
|. S AT, TST ST 21
Il. T w21, Sier 78 &1

Ans X 1. T e | e || srgeror aRa &
X 2. Faa P | SrgeRor aear g
(3.%%@&”@%%
X 4. w1 ot e srgeror 76t avar &

Question ID : 99836739434

Q.10 Qe 3rger fam a2, e @ ok ug g @1 Ry g faeredl # @ ag 9@l faeed gfag, st
3TJehH T GRT 3|

T16, W12, Z8, ?, FO
Ans X' 1.C2

X 2.06
W 3.4
X 4.D4

Question ID : 99836739425

@ Teachingninja.in



Q.11 e 3rgRd o man 8, s @ ues ug era 81 g o el # @ 39 7era ug @ gAgl

FRL, JUH, NXD, RAY, VDV
Ans X" 1.NXD

725 2. JUH
W 3. RAY
X 4.vDvV

Question ID : 99836739426

Q.12 g&= 10 6., uffsq &t ok St &1 a8 arff oz gt & aur 13 6.t Teredt &1 @ fOre arfi
3R geft & U 10 Rr.#i. et &1 oid & ag arff ofie godft & aur 23 fF. . Terdt &1 amfs
fiig, sifaw foig & form fRRam 9 @2

Ans o 1 T
75 2.ufgm

X 3w
75 4. 3f@or

[ Question ID : 99836739440

Q.13 FfafEe usr d Ry g Rt J & forw 2reg g &t gfg)
Ans X 1. dg® - AR

X 2. em - foram

W 3.7 - wR

X 4@ - fermn

Question ID : 99836739427

Q.14 ua fafre st v &, ‘GABLIER’ &t ‘QDHKAZF’ for@m ST &1 39 st e & ‘TOMPAL' &1
HISFT8?

Ans  of 1.KZOLNS
X 2.KYQLNS
/X 3.AZOLNS
75 4.KZOLMS

[ Question ID : 99836739430

Q.15 Prefafee wsr d R me Reredt & @ weflra are g 21 7RI
TER : AR 1 ?

Ans X 1. oMSTER : et

W 2. 5=k e

X 3 S R

75 4. 5eR: fRde

Question ID : 99836739429
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Q.16 afé ger &dor st AB Y@ WR T 11, at &) 7€ SR Siepierdl # § e +ft srrepfer wsr smrepfar Y
Y ufafea ghfi?

Ans

Question ID : 99836739444

Q.17 F=faf@e us 8, & wft sigen § 9 1ea sfa & g

Ans 1.

2
3.
4

[ Question ID : 99836739442

Q.18 Ueh a9 &faYor i 3R 100 Hiex = avell §1 a8 grff 3R gt § aur 300 Hier o el g1 a8
g: grft 3R Fset & Ut 100 Hiex AT ek gehH G UR UgHd STl §1 31 a9 3o fa=m & 500
ez ar &t 81 ag sfaa: ardff ok gt 8 aur 1200 Hier amE @ regare M 0k ugd STt
81 /e M g G & fore feam & qo foraeft gt wr 87

Ans 1.1250 #ez, g&
2.1300 ez, IR gd
3. 1350 Hiez, ufgw
4. 1300 Hex, IR ufH

Question ID : 99836739441

Q.19 Tg s gig st = g g et & = & Hey 1 & Feuor e @1

qfge, arar, ==
Ans 1.
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Question ID : 99836739438

Q.20 sg a&geii G, H, L, M, RauT T &l Gak & U Qeh 3@ 7141 &1 H au1 M & #ea = asgqu &1 L
FTRATRAG G H MFRGMIT@IRAG I RIMGC I Aaa AT aqi 21 T, G & W
g1 R=faf@a 7 @ o9 a1 9 g awar 8?2

[Nek:ceEich]

Il L 9vor & e 2
Ans 1. %ad || TE R

2.3 T@ T

3. el | TET

4.1 YT g T8t @

[ Question ID : 99836739432

Section : General Awareness

Q.1 Which of the following is the chairman of the committee that has been established by the
Government of India to study issues related to non-personal data and suggest the ways
to regulate non-personal data?

Ans 1. Nandan Nilekani
2. Madhav Gadgil
3. Kris Gopalakrishnan

4. M. Narasimhan

[ Question ID : 99836739458

Q.2 F=Afaf@a @ @ YRa &1 S a1 gSE 221 o=t Hareil et dhae IR YRAT T=at & 1y 9rsn
ERT 872

Ans 1. 3ure
2. qiveresr
3. e
4.d=

Question ID : 99836739454

Q.3 fF=fafEa 9 @ fora semafaes 2 o) 3w ath & wu & ot sirEr s @2
Ans 1. 39 smifFET

2. 319 e SR3AIIES
3. 31 A1EeieH HiaES
4. 319 gTsgIoT 3iidTgs

Question ID : 99836739449
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Q.4 2019 e sheard Ay o R Aot _____ grRiA e o0
Ans 1.4

2.39493g

3. %i|

4. hATST

Question ID : 99836739463

Q.5 'TYHHT Gl T Yok T AUT SHad ER & TAT a8 Hivepforeh Uga o Ul & FU A 81 98
FrafafEa 9 & e wrda =g § s=mar s &2

Ans 1. Gl

2. HgRTE
3. AT

4. TR

[ Question ID : 99836739446

Q.6 F=fafEa d @ oF o 7 wRa J uffiw i ofi a7 areht 7 78 &2
Ans 1. 9RER

2. YRAYST

3. it

4. GraEdt

Question ID : 99836739452

Q.7 fafafaa d @ w9 a1 amiSie QUR @18 - ST SitE Ted adite 9 A @rdr g?
Ans 1. 3 THST — W gaTg TR

2. T I — g A

3. ST TSt — ST IEHIE AT

4. 9T GHTST - SR et

[ Question ID : 99836739456
Q.8 fa=faf@a & @ sl a1 Iuwrur snfhfafes R o smafa &2
Ans 1. fieaAnfiex
2. gEgHI
3. anFHieR
4. greeHiex
[ Question ID : 99836739450

Q.9 Who was the first ruler of the Gupta dynasty to adopt the grand title of Maharaj-adhiraja?
Ans 1. Chandragupta

2. Chandragupta Il
3. Samudragupta

4. Harshavardhana
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l Question ID : 99836739455

Q.10 sfia mith @« 7 REFR & g1 g areft ugelt wRdta afgen fRi-gusfie @9 a+i?
Ans 1. a%ur {3 9t

2. ARFw g
3. TRESIIS g
4. &yur afren

[ Question ID : 99836739464

Q.11 R SRy R S8 g & uR R, 31w, Aurery, AR aur MR & s=onfa &=t &
T A Ir5a o1 TsauTe AEfafaa & @ o &R epar 27

|. a1 Tt ST a91 IS
I1. foreft T2t et a1 &1 srgT Wk

Ans 1| dr | &=t
2. AEIAEI
3. Fad |
4. e |

Question ID : 99836739461

Q.12 Which of the following institutions manages the public debt of the Central and the state
governments in India?

Ans 1. NABARD
2. SBI
3. RBI

4. Ministry of Finance

[ Question ID : 99836739448

Q.13 F=faf@a & @ w9 a1 Hu= FHAwTT GO & g T 78 87

Ans 1. S & forg smazas ffs darafe fharett & et & forg gamforRt ATP & U & Jeif uem
Al
2. R 7Y arafes Fffenl @l & T Aifes wrf & forg gaeRtie grT Afda ATP # dfta St
T JUINT HedT gl
3. IRT T ST DNA TIT IS 81T § JUT I8 3701 $o Ui W@ §1d 6|

4. GoehTOTehT hl STEdt Bieett agd Siflies aferd gidt 81 ofiadt Rt e gl 81

[ Question ID : 99836739451

Q.14 ¥ e (@-foer) Y sifdpaw aRuggar ey &)
Ans 1.18 Uwg

2. 104 §udtg

3. 26 g

4. 52 g

Question ID : 99836739447
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Q.15 ¥Rd @1 " ARfETA (82°30'E)
Ans 1. SITQR (IR U H)

2. SR (e H)

3. ¥iuTet (Feg UeeT H)

4. TR (TERTE H)

¥ gl TorRar 81

Question ID : 99836739453

Q.16 F=fafEa d & i a1 ugar e AT {9 Sa |31 i uTehd & el & Areas § &bl
& ST i hifer Fi fi?

Ans 1. TSRS 9|
2. <
3. fagam
4. Mk

[ Question ID : 99836739457

Q.17 ¥Ra # Agfa R ARG T Y ufshar o1 Scora R dfdur= & fFe srg=de & agd
foram mam 87

Ans 1. 3TJ=% 66
2. TS 59
3. g% 61
4. g% 63

[ Question ID : 99836739462

Q.18 Digital Economy Report 2019 was released by .

Ans 1. World Economic Forum
2. United Nations Conference on Trade and Development
3. World Bank

4. World Trade Organisation

Question ID : 99836739459

Q.19 FfafEa # @ &= o arsita e At 15 6 erared & Agrgey evda gRT dwre faye &
TR & fog Tek arfehared! areay & &q F ger Y w02

Ans 1. gl
2. gfag

3. mifg-frerem

4. RAATEH

Question ID : 99836739445

Q.20 fFa a1 & srarifIar Topohar wistae ot ufafda omm @ snifdhterr sars 2019 & ww A
fomam mmam 87

Ans 1. 9Rd
2. sfieienr
3. TR
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4. K=

Question ID : 99836739460

Section : Arithmetic Ability

Q.1 i3 Rz o gur Rt gk g A Ot 1€ fAf W= v i il i demn it gifar @i

C6 &1 Y il <t e 1 C4 31 Y et i Tear § @ srgurd 87
Ans 1.6:7

2.5:4

3.4:5

4.6:2

Question ID : 99836739484

Q.2 afy 548B, 6 @ fawrea &, at B &1 71 M 87
Ans 1.6

2.2

3.4

4.0

[ Question ID : 99836739467

Q.3 g ¥t Reeht @ 7 gafyg (Q. vo.) W aeredt @ o 3 R 1 sravrg (. o) W SraqR ugedt
81 g= 8 Yl SR | 9:00 gafg (T, TH.) R Tt @ a9t 3 R 2 srovrg (. vH.) R Re=ht
agudt &1 R & fhe Twa (srganfae) W aHT et e

Ans 1.11:06 gafg
2.10:00 gaig
3.10:49 yalg
4.10:06 gaig

[ Question ID : 99836739477

Q.4 @i &1 g 71g AT Fi ged g FH A TEt g2nfar 8?2
Ans 1.

2
3.
4

Question ID : 99836739469

Q.5 8.t frwar art AR a1 F Fo R d urft +r=1 gon 81 g 6 &+t B aet e F
Tt =g urht A garar srar g1 art fr Fard A fRa agiest g

Ans 1. 4.5
2.3.5aH,
3.3.83Ht
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4. 4.8

Question ID : 99836739481

Q.6 U AlezETsihe & ufgd fit Bsar 14 A 36t &1 af swer ufgan 800 gawe ufa e fy nfa @
e 8, at Aexarsfre Y nfa @ ghft?

Ans 1. 25.62 fr #t /e
2. 48.18 o5 . /g
3. 42.24 f& /g
4. 45,04 fos /g

Question ID : 99836739480

Q.7
Ans 1.6

2.4
3.9
4.3

[ Question ID : 99836739468

Q.8 =Tae & gea # 25% Y gfg & 1, gk eoft o=t @ ot oft 5% @ Te1 o @1 39 @ua
forast ufaera @ «m g =i 27

Ans 1. 25 ufasr
2. 20 ufaREa
3.12.5 gfaer
4. 16 ufasa

[ Question ID : 99836739471

= o

Q.9 A 3rhet Gk s T (2/3) 40 A & ORT &R Hehell &, B 31hetT HE i o1 (3/4) 60 f & g
&R Tehal g1 A a1 B g1 e TaM @l &t (7/8) foham i3 & qr1 o 9enat 87

Ans 1.32fF
2.30f&
3.36fA
4.24 %=

Question ID : 99836739479

Q.10
Ans 1.8

[ Question ID : 99836739465

Q.11 = g g g1 R & qen 2reR o ute fafra &= § @<t Rl 6 wen i garfar wn g1 e
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fafre uifder &= & @t wRI i e w a3t wifdE &g 7 @< o FRI 6 e w@ afaee
g # geufar ma g1

IR &= P4 a1 P1 & [ @us gRT a91Q 71Q &1 hiur & i a1 3iek s 8?
Ans 1.21.4°

2.22.4°
3.32.4°
4.26.4°

[ Question ID : 99836739482

Q.12 2 fear man gue R U gRFER gRT U Trg & fAfvs R4l ur 343 g deagaer f e
ot garfar &1

D2 f&=1 & 3= 71q hegpetex it ww@T, D4 = aur D5 e & 99 714 et dhergpete” o ST &1
e uferara 82

Ans 1. 10 ufaerd
2. 35 ufasrd
3. 15 ufazEa
4. 60 gfaera

Question ID : 99836739483

Q.13 Qe goh o1+t RafRa ava & 2 o ugst Feperar & aur 192 .. § oms idea T+ R 99a &

ggaA & g 3@ oot wrr= nifa 7 8 6 Y. wifr dier i vt st wsftl gk B wm=r ofa
T E?

Ans 1. 32 f& #/ger
2. 40 f& ot sgar
3. 28 f #t /der
4. 30 o5 oY /ger

[ Question ID : 99836739478

Q.14 A, Baur CHY s shuen: 1: 2 : 3 SIJUTT A & aUT S+TehT T shHAN: 2: 3 : 4 & U A &1
afe A, 20000 g Y 3ma & § 8000 FUA =111 §, at B <kl a=rd e ghift?

Ans 1.30000 ¥0&
2. 22000 393
3. 24000 T9&
4. 40000 30

[ Question ID : 99836739475

Q.15 &t I=fieamst 3 g gHma |11 399 | Gah ol Fed Jal & 60% A U1 §Q1 fastar & @R
Infigar @ foha=t ufdera siferes w7 v gg?

Ans 1. 45 gfasr
2.33.33 ufasd
3. 75 ufased
4. 50 gfasrd
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[ Question ID : 99836739472

Q.16 3200 Tu i Tes AFA =1 Thqfeg saret (afifer Talsr uR) R 20% ufaay fi = @ gt a¥ & foag
e forar mar 21 &) af ugra fara=m sarst ure g

Ans 1.1468 I0d
2.1324 793
3.1304 30
4. 1408 0

Question ID : 99836739476

Q.17
Ans 1.3

2.2
3.4
4.5

Question ID : 99836739466

Q.18 2 a¥gait R @ G o sk Yo G491 81 a¥g R UR AT 74T A1 60% & a1 a%g G W §3
g1 20% &1 afg Tk fashar R TR 90% oh1 S19 AT AT & 9T G o 3ha I 460 $ud &, at
R @1 7 fasra gea @ ghm?

Ans 1. 467 T0d
2. 429 ¥
3. 437 70%
4. 414 398

Question ID : 99836739473

Q.19 P, Q 9T R ATEER & a7 Yeh ATIR A fAa21 oed &1 P Fer Hd2n &1 1/6 wmn aur Q e FHaer &
2/5 ¥ fA3d21 et g1 A2 P, Q @UT R 3 ATH o1 S1JUTd T 87

Ans 1.12:5:13
2.5:3:2

3.5:12:13
4.10:3:4

[ Question ID : 99836739474

Q.20 afE ga avg R & Tt B 16% & , dt 39 a] & 3ifehd Ta &1 39 avg & faeha gea 9
AT ghm?

Ans 1.25:21
2.3:7
3.21:25
4.7:3

[ Question ID : 99836739470
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Section : General English

Q.1 Improve the bracketed part of the sentence.

She visited her aunt just (before a week).

Ans 1. a week earlier
2. No improvement
3. a week before

4. a week ago

[ Question ID : 99836739487

Q.2 Improve the bracketed part of the sentence.

| have not finished (to paint) the door.
Ans 1. the painting

2. No improvement
3. painting
4. the paint of

[ Question ID : 99836739488

Q.3 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

He has decided to for the conservative party.
Ans 1. canvas

2. canvass
3. advertise

4. canvassing

[ Question ID : 99836739489

Q.4 In the following question, out of the given four alternatives, select the alternative which
best expresses the meaning of the Idiom/Phrase.

Heart missed a beat

Ans 1. Good natured
2. A serious mistake
3. Very excited

4. Be guiltless

Question ID : 99836739498

Q.5 Choose the word that is opposite in meaning to the given word.
Similar
Ans 1. Oppose

2. Contain

3. Kind
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4. Dissimilar

Question ID : 99836739493

Q.6 Rearrange the parts of the sentence in correct order.

P: for all scenes
Q: He knew

R: rehearsals were
S: not important

Ans 1. SRQP
2. SPQR
3. QRSP
4. PRQS

[ Question ID : 99836739492

Q.7 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

She will finish (1)/ the work in (2)/ along a week (3)/ No error (4)
Ans 1.2

2.3
3.1
4.4

Question ID : 99836739485

Q.8 In the following question, out of the given four alternatives, select the alternative which
best expresses the meaning of the Idiom/Phrase.

Bring home the bacon
Ans 1. To keep quite

2. To earn money to live
3. Subject matter of the fight

4. To praise one

Question ID : 99836739497

Q.9 Choose the word that means the same as the given word.

Concede
Ans 1. Reject

2. Weaken
3. Start
4. Affirm

Question ID : 99836739494

Q.10 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.
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Our salaries have over the years.

Ans 1. developed
2. adored
3. progressed

4. increased

Question ID : 99836739490

Q.11 Choose the word that can substitute the given sentence.

A place where bodies are kept for identification.
Ans 1. Orchard

2. Lair
3. Morgue
4. Hutch

Question ID : 99836739499

Q.12 Rearrange the parts of the sentence in correct order.

P: him when his

Q: I was told

R: you looked after
S: end was near

Ans 1. SRQP
2. PQRS
3. QRPS
4. QRSP

[ Question ID : 99836739491

Q.13 In the given question, four words are given out of which one word is incorrectly spelt.
Choose the incorrectly spelt word.

Ans 1. Hierarchy
2. Ignorence
3. Gauge

4. Inoculate

Question ID : 99836739496

Q.14 In the given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans 1. Corresspondence
2. Corespondence
3. Correspondence

4. Correspondance

Question ID : 99836739495
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Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

A poor blind (1)/ beggar was knock (2)/ down by a bus (3)/ No error (4)
Ans 1.4

2.2
3.1
4.3

[ Question ID : 99836739486

Comprehension:

Read the following information carefully and answer the given questions.

Young people are living in a world of immense and increasing complexities. At every turn
the landscape through, which they are moving is changing faster than at any time in
history. This is true economically, socially and culturally. For all National Governments
there are two related priorities in planning for the future. The first is to find ways of
realising the creative resources of all young people to enable them to participate in these
changes positively and constructively. The second is to engage with cultural diversity,
while maintaining cultural identity and social cohesion. These concern underpin the work
of the Council of Europe’s project "Culture, Creativity and the Young”.

This policy note summarises some of the issues and proposals, which have begun to
emerge from the activities of the project to date. It draws from a survey of Arts Education
in Europe published in the exploratory phase of the project from international colloquies
organised by the project’s international series of thematic studies commissioned by the
project’s international advisory group. The note argues that it is essential for National
Government to frame coherent policies and programmes to support the creative and
cultural development of all young people and it identifies the central questions and issues,
which will define these policies and the principles on which they might be based.

SubQuestion No : 16
Q.16 Which word does not mean the same as cohesion?
Ans 1. Union
2. Coherence
3. Policies

4. Adherence

[ Question ID : 99836739504

Comprehension:

Read the following information carefully and answer the given questions.

Young people are living in a world of immense and increasing complexities. At every turn
the landscape through, which they are moving is changing faster than at any time in
history. This is true economically, socially and culturally. For all National Governments
there are two related priorities in planning for the future. The first is to find ways of
realising the creative resources of all young people to enable them to participate in these
changes positively and constructively. The second is to engage with cultural diversity,
while maintaining cultural identity and social cohesion. These concern underpin the work
of the Council of Europe’s project "Culture, Creativity and the Young”.

This policy note summarises some of the issues and proposals, which have begun to
emerge from the activities of the project to date. It draws from a survey of Arts Education
in Europe published in the exploratory phase of the project from international colloquies
organised by the project’s international series of thematic studies commissioned by the
project’s international advisory group. The note argues that it is essential for National
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Government to frame coherent policies and programmes to support the creative and
cultural development of all young people and it identifies the central questions and issues,
which will define these policies and the principles on which they might be based.

SubQuestion No : 17
Q.17 Which word means the same as colloquies?
Ans 1. Quiet
2. Silence
3. Converse

4. Introvert

[ Question ID : 99836739503

Comprehension:

Read the following information carefully and answer the given questions.

Young people are living in a world of immense and increasing complexities. At every turn
the landscape through, which they are moving is changing faster than at any time in
history. This is true economically, socially and culturally. For all National Governments
there are two related priorities in planning for the future. The first is to find ways of
realising the creative resources of all young people to enable them to participate in these
changes positively and constructively. The second is to engage with cultural diversity,
while maintaining cultural identity and social cohesion. These concern underpin the work
of the Council of Europe’s project "Culture, Creativity and the Young”.

This policy note summarises some of the issues and proposals, which have begun to
emerge from the activities of the project to date. It draws from a survey of Arts Education
in Europe published in the exploratory phase of the project from international colloquies
organised by the project’s international series of thematic studies commissioned by the
project’s international advisory group. The note argues that it is essential for National
Government to frame coherent policies and programmes to support the creative and
cultural development of all young people and it identifies the central questions and issues,
which will define these policies and the principles on which they might be based.

SubQuestion No : 18
Q.18 Which word means the same as exploratory?

Ans 1. Preliminary
2. Secondary
3. Additional

4. Closing

Question ID : 99836739505

Comprehension:

Read the following information carefully and answer the given questions.

Young people are living in a world of immense and increasing complexities. At every turn
the landscape through, which they are moving is changing faster than at any time in
history. This is true economically, socially and culturally. For all National Governments
there are two related priorities in planning for the future. The first is to find ways of
realising the creative resources of all young people to enable them to participate in these
changes positively and constructively. The second is to engage with cultural diversity,
while maintaining cultural identity and social cohesion. These concern underpin the work
of the Council of Europe’s project "Culture, Creativity and the Young”.

This policy note summarises some of the issues and proposals, which have begun to
emerge from the activities of the project to date. It draws from a survey of Arts Education
in Europe published in the exploratory phase of the project from international colloquies
organised by the project’s international series of thematic studies commissioned by the
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project’s international advisory group. The note argues that it is essential for National
Government to frame coherent policies and programmes to support the creative and
cultural development of all young people and it identifies the central questions and issues,
which will define these policies and the principles on which they might be based.
SubQuestion No : 19

Q.19 Which of the following statements is correct?

Ans 1. Young people are very complex in nature.

2. Governments are realising the creative resources of young people.

3. Governments are realising the creative resources of young people and it is the duty of
the National Government to frame creative and cultural development of all people.

4. Itis the duty of the National Government to frame creative and cultural development of
all young people.

Question ID : 99836739501

Comprehension:

Read the following information carefully and answer the given questions.

Young people are living in a world of immense and increasing complexities. At every turn
the landscape through, which they are moving is changing faster than at any time in
history. This is true economically, socially and culturally. For all National Governments
there are two related priorities in planning for the future. The first is to find ways of
realising the creative resources of all young people to enable them to participate in these
changes positively and constructively. The second is to engage with cultural diversity,
while maintaining cultural identity and social cohesion. These concern underpin the work
of the Council of Europe’s project "Culture, Creativity and the Young”.

This policy note summarises some of the issues and proposals, which have begun to
emerge from the activities of the project to date. It draws from a survey of Arts Education
in Europe published in the exploratory phase of the project from international colloquies
organised by the project’s international series of thematic studies commissioned by the
project’s international advisory group. The note argues that it is essential for National
Government to frame coherent policies and programmes to support the creative and
cultural development of all young people and it identifies the central questions and issues,
which will define these policies and the principles on which they might be based.

SubQuestion No : 20
Q.20 Why there is a need to frame a policy for younger people?
Ans 1. To support the creative and'cultural development of all young people.
2. Young people prefer to live in a dilemma condition.
3. Young people are very confident.

4. Young people prefer to live in a dilemma condition and to support the creative and
cultural development of all young people.

[ Question ID : 99836739502

Section : General Hindi

Q.1 R 7Y a1 T e A HifSgl

ATIE AR UehST SY|
Ans 1. Tfere adera
2. T Jfasad Tt

3. 31U dehTet
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4. G YdhTe

[ Question ID : 99836739514

Q.2 fF=fafEe oresl § @ g5 ad+ oreg &1 9= Hifsigl
Ans 1. A8

2. HAE
3. BT
4. HfAs

Question ID : 99836739511

Q.3 fu g Reveur & Suyge gafaar g &1 ag= Hifsgl

W___ damAdiuas____ @l
Ans 1.9, dH

2. 3ITaTE, gSq

3.y,

4. g, faea

Question ID : 99836739510

Q.4 fu g arant & € 9 ared w1 RfSl

Ans 1. SifSE=g SToT Y auf 3 8T oMl
2. IfAHg = it g forar o1 39 o &t anf gt @ ot
3. if =g 3 3ar dt ITh ugy T aron Y auf gt & oft
4. AR TN & GRT quT e TET AT

[ Question ID : 99836739516

Q.5 fg 7T 2rex o1 GHI A RIS

EELG

Ans 1. TGEY A

2. 8g 9™

4, HHIRT gAY

[ Question ID : 99836739506

Q.6 s Ty # Ry 7q IR et A 39 e o1 Tg=1 &R St Ry 71T ggrer & orf ot 9dsis &g
& ==h et 8l
AR fREwRaid____
Ans 1. 3 R WA
2. St & gg 7
3. 3ifeg &1 art

4. 3G G
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Question ID : 99836739517

Q.7 g g 2rez g o1 A 21eg g FIE R
afR:arft
Ans 1. s
2. 3 YA (S & fo)
3. %mq:g?f‘q
4. eeay

Question ID : 99836739509

Q.8 faw v 2reel i d@fY 7T ffSgl

Y + omg
Ans 1. ifdemy

2. sreffara

3. ™

4, areftemg

Question ID : 99836739507

Q.9 Ry Ty geTeR & arf & FdLs & A Mg
héeh F9AT

Ans 1. @R g
2. & g
3. &Rl

4. STk g

Question ID : 99836739520

Q.10 T 7Y 2r1eg &1 == w9 HifSQl

Gl
Ans 1. Ushadad
2. Sgae
3. HaT eh T

4. Qe g Sgere a1

Question ID : 99836739515

Q.11 fu 7q areryiar & fag SR 21ee o =g= hifsgl

fSger aufa 7 & 9
Ans 1. smféra
2. guiia

3. ST
4. 3rguiig
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l Question ID : 99836739512

Q.12 g v area # fore form g @1 Suai fokan stTan skt ugam= ISyl

Ans

AR fAerTera uTd 3i1s s GerdT 81
1.,
2 -
3.
4.:

Question ID : 99836739519

Q.13 Ry 7y sreel A @ Shfel 21 71 hifSigl

Ans

1. 7%
2. Faar
3. et

4. #ifeaan

Question ID : 99836739513

Q.14 F=fafEa 7 9 98 a8+ - a5a e g a1 Hifagl

Ans

1. @f-gf
2. 999
3. -
4. TG-I

Question ID : 99836739508

Q.15 g 7 area # Iuges R Rig & 994 )

Ans

9 9 gl 11 3@ gt
1.?

2.,

3.0)

4 -

Question ID : 99836739518

Comprehension:

Tep TerteT T T &1 TR Rt eATgdeR Ug duT Udeh U & OR fadhedi § § Ogl fdehed g

AR fgg Tt A S ud ofR Icd AHTE S1d 6, S8 aRr ol fafRTE T g1 awms <if<h &t Iurer
1 Ud g1 A1fh &1 fay o1 goi el 8, 21f<h & I TaTe Shee 6, Afth 8 ITehT HeR ahed! &1 FarTf
TER & iR o Rrsraresrdt ar g2rer 1 I F=m STdT &1 TART & SgaR g2 7 wwar sivm
J 7T T g AT AT ORI & FSiexT § TaRI I4d T TaY 9 IR grax ¥ $@H i e 81
399 TER & R Ul 4-5 ARg N TRaT Wel/Td & foly Ueh &1 WTH TR 39hal 8id &1 TRaT fAh
I & w0 7 81 39 7 ufafiar & wu & off fovar Sirar &1 3 veRR Wk 3 gt Tt S ufdw et
H SHTE-STTE, I At & USTel SFTY ST & STat 1<k &2 & fog ugaa €1 a8t wR A gl & yor ot &
3R ITE @ ifd Y AT e § 1 RS TR TR URURe T 3R i & wrishn +ff smaifeia fong e
&, STel g} Al TaTs & ot ugad €1 gud fa ufgym dwrer & it At gt Y fgh Y gfcfat ot ot
forafoia e 3d €1 YR & ufYet wrsal & Fer1f3 &1 Ueh et &Y &7 fegdn 8, STei A & gHa ol sifear
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WD &1 3R EH ST U] H TR & A U4 ol Ieeikd e dl I8 Teh T & JIER &, St 9Rd &
R hA H 9™ ST 2

SubQuestion No : 16
Q.16 sa=1fx & nfRA 3= F9-a1 T F=Tar STraT 872
Ans . fasEresrEt

2. feareft

3. ieft St

4. gt

Question ID : 99836739524

Comprehension:
Qe TTEIIRT T T 81 TR Rl SYden Ug a1 Udidh U & OR e # € w6t faehed g

AR g T A i ud ofR Icd 716 ST 6, S8 aer ol fafRTE T g1 Aaws i<k &t Sureer
1 Ud g1 1fch &1 fay o1 goi et 8, 21feh & ITehT YaTe shedt 8, fth & ITehT UeR &l &1 Farif
TER & TR o Rrsraresrdt ar g2reR 1 Ia F=T STdT &1 TART & SgaR 32t 7 wrar sfvm
F reroT T gy fRAT AT | ORI 3 SSIGRT A AaRI IcHd T T Hed IR FraX FYU & i e gl
TIH ANER & IR U 4-5 ARG AN TR Gei/7d & [l Uk &1 T TR 39hal 81d & | TRaT {th
I & & H 781 39 o ufornfirar & wu 8 off frar srar 81 3¢ yer v & g s S ufgm dme
H STTE-STTE, T Af o USTet SH1Y S € STgt ¥iwh &34 o foig ugad &1 a8f uR A guf i gum e §
3R ITH g i Y AT e §1 R SHTEl W uRuRes e 3R 1fia & arien oft s fohg
€, ST8T 9IRI <Al d1eTe # &7 ugad &1 9d faet uffyw simet & T w1 gt & et <hr gfcrat ot ot
forafSia a= 33 &1 wRd & ufef I=al & FaR1f3 1 Uen 31t &t 1 fezaar &, et A & guy A sifear
Qeld &1 PR &H AT 2] F TaRI & HEH Ud 1 Ieoia &< dl I8 Ueh 01 9% AR 8, S WRd &
BRI H ™I ST B

SubQuestion No : 17
Q.17 3ud~h Terian o1 IJugsh 2fitfes @ ghm?
Ans 1.7 Td

2. 38

3. ufaifirar erfere ud

4. 9 Td

Question ID : 99836739526

Comprehension:

Qe TTIIST T T 81 eIl Rl eagden ug dT Uik U & 9R faehed § @ wgt fadhed T

IR fig Tt A S ud ofk Ica 7ATE STt €, S Aavr ot fafRve T &1 Aawm «ifkh Y 3o
1 Ud g1 2f<h g A% T Yo el 8, Afh BT ITRT TdTel ! 6, Mh &1 ITehT HER el &1 Fa
TER & SR & fasTaresr a1 G2reR I I 1T ST & | THII0T & SR 39T e wwrar ofikm
J 1T 1 gy AT AT TORTd & FSiexT # AR I4d T Gad 9o IR Grax ¥ ¢ it A gl
99 ER & IR Afdfed 4-5 ARa AR TRaT Ve/7d & fol Te 81 ¥ TR $a-hal 8id & | TR Ak
T & ¥ | 781 39 &7 ufouifirar & wu & +ff forar Srar 81 St vehR R & gdf st S ufge s
H ShTg-STg, gt A & ueTel s ST & STt b a2 & fog ugad &1 agt R Arar gt &l get avd &
3R IS @ ifct T HEAT R &1 s STTET IR URURE 97 3R M o shriend off Siford fohg S
g, T8 §9IRI <l dTalG # AT Ugad 61 &9d f&T Ufga STTet o &7 A gt &ht fAgh &y qfefat ot ot
forafSfa #= 33 &1 wRd & uff oot & Fa=1f3 o1 Ues orer 8t 1 Rzagar &, STet & guy o sifear
WD &1 3R EH ST AT H TR & A U4 ol Ieeikd 2 df I8 Teh T & JIER 8, St 9Rd
BRI H 9™ ST 2

SubQuestion No : 18
Q.18 TR ekt HIT-TT Ud AT SI1ET 82
Ans 1. USTe &t ST T Td
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2. 1f<h Y IUTHAT &1 ud
3. 9d @ w1 Ud

4. ey & forg

Question ID : 99836739522

Comprehension:

Tep TerteT faT T &1 TR Rt eATgdeR Ug duT Udeh U & 9R fadhedi § § U@l fdened g

IR g ToreT & 1= ud ofRk Ic9a AATY ST &, I76 1a<Ts o1 fAfIE W &1 Faw 1fh &l SureET
T Ud g1 Mh &l [y o1 gor axclt 8, ifeh &) Saent Sared et 8, U1feh & 39eht HeR ahdl & | TarTh
ER & iRt o Rrsraresrdt ar g2reR 1 Ica F=mT STTdT &1 TART & SgaR g2t 7 wwar sivm
J 7T AT g fRAT AT ORI & TStedT § TARI Iqd HT T W 3R Frex T 3@+ Y fAerar &1
=99 TER & R Ul 4-5 ARg R TRaT Wel/Ted & ol Ueh &1 W TR 39hal §id &1 TRaT fAh
I & w0 B gl 39 T uforifirar & wu # off o smar 81 32 UehR 9Ra & ge et S ufgm st
H SHTg-S1Tg, i A7 & USTel S1Y Si1d & STgi 91<h &34 & forg ugaa &1 agt R @1ar gonf Y gom vt §
3R ITY G LAifY Y HIHT e 1 S SR IR URURe Je 3R M & rdern oft s fang S
&, T8l 89IRI <l dTare § AT Ugad ¢ &9d f& ufgm sviet o & | gt <y gt &y gfefat ot art
forafoia e 3d €1 YR & ufYet rsal & Fer1f3 &1 Ueh 3rer & 1 feadn 8, Siei A & gHa o sifear
WA &1 IR BH AT U] H TR & AT Ud ol IJeoid 2 dl T8 Teh VT &I ANER 8, St Rd &
B A H HAT ST 8

SubQuestion No : 19
Q.19 TR & i & e i ufagifar oft i et 872
Ans 1. UG

2. TRaT

3. it

4. Ueft T

[ Question ID : 99836739523

Comprehension:

Qe TSI T T 81 TR Rl eagden Ue a1 Uich U & R e # @ wgt fadhed g

TR g T # S ud ofk Icqd 716 SI1d €, ST aer ol fafRTe T 81 aws «1fch Y Iure
1 ud g1 1k &1 fay o1 gorm et 8, 1fch & ITehT TaTe shedt 8, 1fch 8 ITehT UeR &t &1 Farif
ER & ot i fasaresrt a1 €16l T Iqd AT SIdT &1 AT & AR 3¢t R sram sivm
F 7eoT T aY fRAT AT | ORI S SSIGT H AaRI Icid hl T el R Frax T & i e 81
H ER & IR UfAfed 4-5 dRg AT TRaT e/ h foIg Tk &1 W R 39haT gid 6| TRam i
I & & B 78l 59 T uforifirar & wu 7 off o sirar 81 3¢ yepr v & gt e S ufgm s
& SHTg-STTe, Tt |i & UsTel SHTY ST & STgT W<h &= & oy Ugwa €1 a8f W AT i & ot et &
3R 3T @ Aifa Y AT e &1 S SHTE! R URARE T 3R M & wrishd off smafoia forg smar
g, T8 §SIRI <l dTalG # 1T Uged 61 &&d faT UfA STTet o &7 A g1t &ht fAgh &t qferat ot urit &
forafSta a= 33 €1 YRA & ufyet Isal & TR o1 Ueh 1o &t I Riadn 8, STet AmH & gHy o sifean
WAd §1 3R EH AT AG] H TR & AT UG el Seeikd e df I8 Teh QT & 18R ¢, St 9Rd
BB T IR ST 8|

SubQuestion No : 20
Q.20 fore Trsat 7 gt A 6 g & fog dere +ff a9 514 87
Ans 1. fER

2. TigH sTre

3. BTG

4. fgHTae udar

Question ID : 99836739525
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Section : Discipline1

Q1w RepiS w1 &t Aafehea & geaic & FafoifRe vl 7 @ fhads siavfa affea farar s
Hehe 87

Ans 1. IR-ATHIRd uieror a1 efthure fafy
2. HTchIehd URI&T0T T 3894 fafdy
3. gad daie
4. fAEemeHeh qehHich

Question ID : 99836739535

Q.2 @ S & gER AEfaf@da 7 9 s+t ger afgdt H am= fRetvar 78 82
Ans 1. Tl o SIgeE

2. TR & T A BT THG e

3. gyaifeaa # v

4. i & 3R gebra

[ Question ID : 99836739527

Q.3 fF=fafEa & & & a1 fan & ar F digary Tk & Ryl & ar 7 |8 82

|. fAar ot wreaw sidsh g anfgw
II. Tpf T 1 TR g Wa &
III. TeATeweR nfafafat ot fAen d g i yfiem Mt @iy

Ans 1.l @l
2. aarlil
3. %ad |

4. | qarll

[ Question ID : 99836739545

Q.4 fa=faf@a d @ =9 91/ ursasha @i/ UaR 2/87?

|. R 3=
II. &rraT smrenfa

Ans 1. & ||
2.EATE
3. &ad |
4.1 Tl &=t

Question ID : 99836739544

Q.5 "R fAer yoreft A afgsrr & fav A=faf@a 4 9 59 ver & o= s d &2

|. freretinT et
1. aferert

Ans 1. &ad ||
2. &had |
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3.Ag ATl
4. aur || g

[ Question ID : 99836739536

Q.6 Which characteristics of community influence education?

|. Demographics
IIl. Occupational patterns
lll. Customs and traditions

Ans 1. landlll
2. landll
3.1land il
4.1, lland Nl

[ Question ID : 99836739540

Q.7 ST deh-iieh & IER Fafaf@a § @ &9 91 'UeagH Saedr & IR f&gidl & 9 e gl
&?

Ans 1. forge o (feaemsfam) &t sgafa
2. ST fRfat o1 e giar &
3. ST & §T STl &

4. T<h ¥U ¥ fdgad g1 R I

Question ID : 99836739532

Q.8 F=fafaa d @ fFd S @ & usr 3o Y emar & &u & uRyNa foFar s 9arar &2
Ans 1. 3T@eHTcHe fRia

2. faeda
3. Hiferemar
4. 3rworsfterdr

Question ID : 99836739528

Q.9 Which of the following elements given by Carl Jung can be described as primitive in
nature and is the reservoir from which all other systems emerge?

Ans 1. The collective unconscious
2. The conscious ego
3. The personal unconscious

4. The unconscious ego

Question ID : 99836739533

Q.10 fer & d@eof A fR=fafE@a & @ &9 a1/a sy= g /87

|. 38 §ATS & 31U fth & AiedTfad @=ar anfeg|
II. ag =af<h el TUTST & 1Y ThRIcHEG 9 T e & 1Y | & oy uienfaa &=l 81

Ans 1. |dr|l &=t
2. %ad |
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3.aar 1 aurastll
4. FHad ||

[ Question ID : 99836739546

QN FA=fafEa 7 9 w4 /9 wu= a8 /872

|. TeRRTeHeh fa=Awoneres u&Ta faRtary<h ga &
1. TepRTeHeR =t e w@faRtumanh adi gia @

Ans .| T &=t
2. Faa i
3.AgATErl
4. %had |

[ Question ID : 99836739543

Q.12 e &1 R fRAfATH 2009 & R F=faf@a & @ w9 ar ad 82

|. ©he hfueer Fre v et &
II. et waer & forg RS ufthar &1 Sugin o od &

Ans 1. 3had |
2. Faa i
3.Ag ATl
4. | g || 3

[ Question ID : 99836739541

Q.13
Ans 1. f@fx

2.9
3. AFEUS

4. v

Teh afh i foparsii o1 Qe I=aa 81

Question ID : 99836739537

Q.14 Fr=fafEa d & 9 TATeTddT & Geaich § URIST0T dehiichl & dad ' Ta-TeHehdT & Ul 3%
(o=t e i RGN Y Su-udter =g &2
Ans 1. SoEReA &
2. Tfaferd 3
3. FIUHITRE T
4. g gad

[ Question ID : 99836739529

Q.15 R d@fur & e srgede | srggfa sfaal ek srggfRa senfaal & Afdres f@a o
T 7@ T 8?

Ans 1.58
2.12
3.46
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4.23

[ Question ID : 99836739542

Q.16 FR=faf@a & @ w9 ar o Rigia' & JgaR IRg T 01 7 | U 781 8?7
Ans 1. srfrear

2. ardeasfierar
3. 3o

4. gffem; urreros

Question ID : 99836739531

Q.17 In the process of education and socialization, which of the following are transmitted to the
students?

I. Social hierarchy
Il. Inherent inequality
lll. Social stratification

Ans 1.landlll
2. 1land Il
3. landll
4.1, lland llI

[ Question ID : 99836739539

Q.18 fA=faf@d & @ @i+ ot wiRg awrsiiaror st 87

|. T |l aRar |l 9 |9g V. sitoanRe Aeiftrs s

Ans 1.1, lll@uT IV
2.1 11 Hraar v
3. Haar v
4.1, 1laarii

Question ID : 99836739538

Q.19 F=fafEa & @ o a1 afha o1 gegic s & g go R-Aardhiga usieror a1 afthors
fafar adig?

Ans 1. TTRIETSIT
2. ThR HIE
3. sFeheled Rerdd
4. FFASTHERT

Question ID : 99836739530

Q.20 Feafaf@a & & @i @/ Fwy= |t & 7 f a3 & gatazor @ g1 gen/gS gu a/es?

I. 711 & 9 & iR o1 ) e Tiwor fi qoTEET IR AET
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I1. 7of & =3 R RIS erfar o gefean
I1l. QeheT <=1 OT <hs a=a 19 & Ut &1 3@ &t

Ans 1.1, ll@mll
2. |l g |l g
3. | Il &=t
4. | qrll @+

Question ID : 99836739534

Section : Discipline2

Q.1 In which approach to learning, teachers are also co-learners with the students?
Ans 1. Collaborative learning approach

2. Learner centred approach
3. Cooperative learning approach

4. Learning centred approach

[ Question ID : 99836739558

Q.2 are “tight-ship” classrooms where the teacher maintains a high degree of
structure, manages routines tightly and uses very few instructional strategies.

Ans 1. Dysfunctional classroom environment
2. Orderly restrictive learning environment
3. Orderly enabling learning environment

4. Adequate classroom environment

[ Question ID : 99836739561

Q.3 What type of questions asked by a teacher are convergent questions?

Ans 1. Single correct answer question
2. Fixed correct answer question
3. Both single and fixed correct answer question

4. Multiple correct answer question

Question ID : 99836739551

Q.4 refers to methodologies and environments in which learners engage in a
common task where each individual finds out and is accountable to each other.

Ans 1. Co-operative learning
2. Learning centred learning
3. Collaborative learning

4. Learner centred learning

[ Question ID : 99836739560

Q.5 Which type of intelligence according to the Gardener makes it possible for individuals to
visualize, transform and use spatial information?
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Ans 1. Visual spatial
2. Bodily kinaesthetic
3. Logic mathematics

4. Linguistic

Question ID : 99836739557

Q6 ThaR mrmaT R hfaggd__ g m
. 98 @1 gT 3=
Il S AT 31T &1 ] Y T
Ans 1. & ||
2. g
3. &ae |
4. | qgrll 4T

Question ID : 99836739547

Q.7 The process of habituating the child to repeat and modify elicited and emitted behaviour
is called

Ans 1. stimulism
2. learning
3. conditioning

4. nurturing

Question ID : 99836739552

Q.8 aiftnm i ufekar &t AT 11 "ehall 81

|. SHagR a1 gufaar ¥urf Fuidazor

II. safhea & gofaar T uRadT

II1. Sfe=r i 71T ot o1 et & TG emasaes sied, T T SifRglRy @t wgor Rl
Ans 1| Il daTlll

2. 1aarlil

3.1aurll

4.1 qarlll

[ Question ID : 99836739548

is the amount of time students actually work on any assigned activity like working
on written assignments.

Q.9

Ans 1. Activity time
2. Engaged time
3. Learning time

4. Classroom time

[ Question ID : 99836739562
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Q.10 FA=faf@a & @ &9 91 qaigae Sadred SifORr &1 SMuR a9rEr 82
|. 91 B gR1 "ftha ®u & [Afda frar strar &, 7 6 ataror & [fcra 9 @ v e sirar @

II. ST & forg ST o131 & gFaT & SIga WR SUTRA JUT IHE ZRT AR TUIdRd g areft
e Y Qe ufshar &
Ans 1| dur|l Al
2. % |
3.AE A
4. & |

Question ID : 99836739553

Q.11 af Qer srearueh gardr TR IUNTH 1T &1 HadT hedl g, df 3@ fFT a1 &t s &@=m
-fRue?

|. féxa serarsit & forg vf, fifear, e=a Tl aur arafaes S h arrft & vt &=Ar

ey
II. fAfée garamen & Iuafed & vel & TR srgdenenes Frishd & Aregw | el &t 3=kt

S fY & wefel e T AR
Ans 1.3%dd |

2.7gATErl

3. &ad Il

4.1 qar |l =

Question ID : 99836739554

Q.12 feror i wistae fafd /e o a1 8782

|. St ferarereal & forg SR aut Okon w@a: Iau= R i @ aur Renfdal ot sifdem & ufa
wifga @A & forg forelt angy s ar srgma-fa=ra Y sasaaar =181 o<l 81
1. g ferenfdal et I=reh ufersg & Sfia= At @& 7 Aee &=t 21

Ans 1. ||l &=t
2.A1grATgrl
3. Fad |
4. %aa |

Question ID : 99836739556

Q.13 19T <t T ST HehelT 21

|. 9OR & 91 & T #
I1. SATeRROT 3R 2Aeeehier fi S & wu A
I11. Seret et U & fAT Shaet I & wU H

Ans 1. %ad |
2. laurll
3.1l

4.1, lhaar il

Question ID : 99836739563

Q.14 F=fafEa # @ o4 a1 ey s | Rifawar & forg gare § gariere gfitwion o aweds swar
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2?

|. Goh &Y SUTHE & AR AN STt ATGHTT # Yok gER 8 a1 SR &, STefch d 31U9 §HE &
aTeR foRelt & a7 e THY AT @1 IUATT R &

I1. Tar & FhT WRIS) 3R Fipolt & sifda R &g R &

1. Serita & ARISY 3R A< & ftw deed)

Ans 1. &ad |
2. 1l |1l &t
3. e Il
4. | qurll @

[ Question ID : 99836739565

Q.15 We speak differently to different persons about one subject. Such as, we do not talk to
our parents about what happened in school, the same way as we speak to our friends.
Which aspect of language play a part here?

Ans 1. Psychological aspect
2. Social aspect
3. Environmental aspect

4. Structural aspect

Question ID : 99836739564

Q.16 Which imitative behaviour is concerned with suppression of deviant behaviour of the

model usually as a result of seeing the model punished for engaging in the same
behaviour?

Ans 1. Dis-inhibitory effect
2. Modelling effect
3. Inhibitory effect

4. Eliciting effect

[ Question ID : 99836739549

Q.17 s & ufeear d e sroT @9 €2
Ans 1.al

2.q&
3. d=

4.9

[ Question ID : 99836739566

Q.18 e # 3rearuen! gRT AEfaf@da d @ i oY Ogarr ifenm ferarereTal auT Afe« &1 Ut
fora sirar 872

|. e srawor
II. STt
1. fremeff im =1 Iuafsd fasms=

Ans 1. llTarlll
2.1, lhaar il

3. 1aarlll
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4. qarll

[ Question ID : 99836739559

Q.19 eifenm uferar a1 sifaw waa T 87
Ans 1. @-31femm

2. 3R Y1 g%t g
3. -3 qUT W-eHich il
4. -l

Question ID : 99836739550

Q.20 fA=fafEa d @ oo e fafy 6 faiva/d /8?2
|. SreaTger Squf fiRas & e fawa avg R aarear ar P 3a &
II. uTSTE™g ot Yol & 9 vqd fRar e & aut et gees aur g @@= & G @
Had &
Ans 1. ATE AT
2. Fad |
3. Fae ||
4.1 Al g

[ Question ID : 99836739555

Section : Discipline3

Q.1 fA=fafEa d 9 frad FRor wrafie TR R afoa J feor-faem ufsrar serdes 8 gidt 27

|. TeR R o« e stran @
II. S, SIFUHNT AT I o AR WR &A™ gl Srar

Ans 1.&ad |l
2. | ar | gt
3. Fad |
4.7

[ Question ID : 99836739572

Q.2 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

A lot of people turned up for the show.

Ans 1. have
2. was
3.is
4. has

Question ID : 99836739583

@ Teachingninja.in




Q.3 ______ means utilization of available conditions and resources to the fullest extent which
is never included in the school mathematics curriculum.

Ans 1. Estimation and approximation
2. Representation
3. Optimization

4. Making connection

Question ID : 99836739567

Q.4 f=faf@a d§ @ @9 91wy 3r: UHATeHS fHiae ot aRafa eear 27

|. fafr= g @il & Rt & srga & areaw @ g wrwft & a1y vai w4 & gRr eifdmmw
T
II. 7f amreft Y srraraehar & fomT faar & ary a<dh we & ava g

Ans 1. &I
2. |l gt
3. %ad |l
4. %had |

[ Question ID : 99836739568

Q.5 Choose the word that can substitute the given sentence.

One who believes in one God

Ans 1. aristrocracy
2. referendum
3. monotheist

4. blaspheme

[ Question ID : 99836739580

Q.6 In the following question, out of the given four alternatives, select the alternative which
best expresses the meaning of the Idiom/Phrase.
To be all ears
Ans 1. escape punishment
2. serve as contribution for
3. to listen eagerly or curiously

4. transfer

[ Question ID : 99836739582

Q.7 A=afaf@a 7 @ sifery a1 1= 91 datent fAarer e 6 ulRfeafaat & Sugh R gadar 82

|. agai 1 SafeaRawor
II. srefguf feafora & ek ez
I11. fafera s fierl @ FAsgor

Ans 1. ad Il
2. 11l

3.1, At
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4. 1arlll

[ Question ID : 99836739570

Q.8 Choose the word that is opposite in meaning to the given word.
Proficient
Ans 1. able
2. incompetent
3. fit

4. competent

[ Question ID : 99836739577

Q.9 Which of the following is the first stage of Kohlberg's six stages of moral development?
Ans 1. Maintaining the social order

2. Good Interpersonal Relationships
3. Social contract and Individual rights

4. Obedience and Punishment

Question ID : 99836739584

Q.10 "geh wHET fore vga foRar ma & Qe =Rt ot g21fdt & STef uer "1aRvr g & T SIS i
St & ggTd agen 81" 98 Fu fana 3w ar?

Ans 1. SifSt giear
2. Q. . e

3. S fugite
4. faE <

Question ID : 99836739574

Q.11 wifore &Y i i uepfer geuear aur ufkgar @ S6fia 8, aur g a7 suedr & oy #id
TeTrger g Stsdl 82

Ans 1. 3fiaRes sifAsf
2. élhdr
3. &

4., TTcHhdT

[ Question ID : 99836739569

Q.12 Choose the word that can substitute the given sentence.

One who attends to the teeth
Ans 1. oculist

2. mercer
3. undertaker

4. dentist

[ Question ID : 99836739581
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Q.13 Choose the word that means the same as the given word.

Active
Ans 1. slothful
2. indolent
3. energetic

4. lethargic

Question ID : 99836739579

Q.14 The logic which uses known results, definitions and rules of inference to prove something
is called

|. Deductive logic
II. Inductive logic

Ans 1.0nly |
2.0nly I
3. Neither I nor |l
4. Both land Il

Question ID : 99836739575

Q.15 <itst ulean & R, femerft fen & forg nftra # fFam R & 32T &2
Ans 1. TR

2. uig
3.d=
4.3

Question ID : 99836739573

Q.16 Choose the word that is opposite in meaning to the given word.

Brutal

Ans 1. humane
2. sorrow
3. unwilling

4. rich

Question ID : 99836739578

Q.17 Sif= &t. afed= & @ AEgie FaraR) | & g, Fefafeaa § @ e & feadtafn & fog
qa fafdy ofi?

|. @R
Il.s*

Ans 1. %ad |
2. | g || 3=
3.Ag Al
4. had |
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[ Question ID : 99836739585

Q.18 fF=fafEa d @ o @1/ nfordta srauromsit & g g € st a3t fwal # smasaes § au
T frerea R wR 1foa & uteased | +ff anfae 872

|. ST 9T sl wR dftharg
II. TR Riaa
Ans 1. || &=t
2. Fad |
3.ArgrATarl
4. Faa |

Question ID : 99836739571

Q.19 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

It helped her (1) / to got rid of (2) / her superstitious belief (3) / No error (4)
Ans 1.1t helped her

2. her superstitious belief
3. to got rid of

4. No error

Question ID : 99836739576

Q.20 Young children approach simple or difficult tasks both with the same unbridled

enthusiasm. They act as if they can remember everything. In contemporary terms, they
lack

|. metacreative awareness
Il. metacognitive awareness

Ans 1.0nly|

2. Only Il

3. Neither I nor |l
4. Both land Il

[ Question ID : 99836739586

Section : Discipline4

Q.1 Which of the following is a role that a teacher has to play?

I. Behavioural role
IIl. Procedural role

Ans 1.0nly|
2.0nly I
3. Neither I nor Il

4. Bothland Il
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l Question ID : 99836739602

Q.2 ST A THY ST Bi-wi @ RAfT s R = g2
. G99 & T R e @
Il g gaur R T / ST wRa @
Ans 198 SRAE
2. &had |
3. |l a4t
4. %ad |

Question ID : 99836739599

Q.3 f=fafEa 7 @ w9 @ €.4t.ga. & fPeror-sifnm ugfa & & & uRalermn ugfa & qor 8?

| AT arafaes Sftaq uR emenfa g aur saferg frenfaf & v ol gwa aa wgar &1
II. T wepfa & woTresard aur fRAwm e g1
II1. Tg adtept gHtegof SR & AfeheT e a1 v arararor ye e g |

Ans 1.l durll =t
2. |1 aur ||l g
3.1, aari
4. | g Il S

Question ID : 99836739592

Q.4 Which of the following approach is based on letters and sounds?
Ans 1. Language experience approach

2. Phonics

3. Whole sentence reading

4. Look and say

[ Question ID : 99836739593
Q.5 97a gam & g g gt & A ol ueA' | w1 HaeT §7?
Ans 1. 2ral & fofd ®u sfik 377 oref ot ggaTAT T
2. TFY qd & O STaeRmSH &t fth 8 ANy A
3. TEGT I YEETHT HREAT TUT ST 276G Jehsial hed & i Ael T
4. 3fRq T TUT 1T BT IUTNT Heeh ATl aht Hadt AT & TGAT
[ Question ID : 99836739600

Q.6 udta ursT=af h FukET (TF. . gw.) 2005 & R WA axor 7 €41, g9. frerr-aifirm
& R & aR ° FEfoafEa d @ &= 91/3 sy o 2/87

I. .. 99, & feror-aifdnm ft arafdes gema & Arenw @ F=ai H aafdes shaa H Rt &
a1y 3r=:feran, R ufafes i nfafafat @R foarR & wu & seu= A st @1
I1. .2ft.q9. =t sl Y Ik vaferor & aR # SinReeRdr ok Tt gt gidt 21
1. §..99. o1 32T BT T aATAR Sta- Y gfHar, urgpfaes ok s, i awd 8, d
ISR AT &1

Ans 1. &ad |

2. 1l aur Il g=F
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3.1 aur|| gt

4.1, [t il

Question ID : 99836739590

Q.7 Ueh SifesRasr 2fie s91a o, 2r@ur &= # foher &1 o fera forar sirar &2
Ans 1. g &l SR & UgA & ERTE oh ST I &Y hdl @I STl &

2. el Sl HTST ST STIANT

3. FGHATT & ITAROT &A1

4. 31 Y AIfed BT

[ Question ID : 99836739598

Q.8 fA=fafad d @ o= 91/ SaTUR &1/d IUSHIT g Gehd1/Thd 2/87?

|. ST areft gfar

II. wagafeat
1. fOeR &1

Ans 1. %ad ||
2. 1l il
3. dhad |

4.1, gt

Question ID : 99836739594

Q.9 F=fafEa & @ ol @ See R 'Serd (@ffEm)' & care S frar siran 22
Ans 1. SreaTdelt a1 faeTd et

2. SFIOT &HRAT

3. A

4. et

[ Question ID : 99836739606

Q.10 FEfafE@a d @ @ 9/@ wu= adt 8/8?
|. T/ RrvEreg Hithfae uge] & sianfa omd &1
II. 3fYeh T AT g & Sienfa oma &1
Ans 1.l durll =t
2. Fad |
3. Faa i
4.8 RIE

[ Question ID : 99836739596

Q.11 F=fafEa & 9 w19 a1 e g2a aadq g2
|. sRagafeat
Il FARMRTE TAUT Bl

Ans 1. %ad |
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2. %ad ||
3.9t eiRAE
4.1 ayr |l =

Question ID : 99836739603

Q.12 F=fafEa d & o9 a1 wgFl G & Fire § GUR TR 6 G adiat 87

|. Teh 9T IETERON (aameea) & a1y wifaes & @ uRRa gi-m

I1. frorre™g @t o<t e & W+ & fog e foReft Aq 2reg &1 91 ST9A & foig gt it o=t
WE /Ul

Ans 1| durl &=t
2. Fad |
3. Faa i
4. g RIE

[ Question ID : 99836739597

Q.13 Which of the following is/are tools and techniques for assessing learning in EVS?

|. Essay Tests

Il. Performance Tests
lll. Discussions

IV. Quizzers

Ans 1.1l llland IV

2.1, lland Il
3.1 1L lITand IV
4.1, llland IV

Question ID : 99836739591

Q.14 gt & o eifera &u o &2
Ans 1. FA TG T

2. 9M[ S99 &

3. A b T

4. A FRATITHT T8

[ Question ID : 99836739595

Q.15 Which of the following combination of Erikson’s General Stage and age related to it is not
correct?

Ans 1. Ego Integrity versus despair : Wisdom — Old age
2. Industry versus inferiority : Competence — 6 years to 11 years
3. Trust versus mistrust : Hope — Birth to 1 year

4. Initiative versus guilt : Purpose — Adulthood

[ Question ID : 99836739587

Q.16 FA=afaf@a & @ &9 91/8 39 Srfaerarl 61/ Seevr 2/2 it . 3. Y. ¢9. 6 e & A=
T § HEE hd &7
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|. S et geh ugeht A fore e
II. BT I ST ATH-UTH T UETT & aAT 3. A, 7. § F il i Rtware wz e
& forg shgem

Il B @l 5. ft. gH. A uTeTgEIRl § TFHRRY UTE 6k il # foa=t & fog @gen
IV. BTt @ RErerrt 7 fora g & farg @gen

Ans 1.1 11, T Gam v
2.1, il
3. aariv
411 I Far v

[ Question ID : 99836739589

Q.17 Herad gl & STdeRT ot sifaura 87

Ans 1. fenffal st orom e RIRTET BT 1T e 3R SO T Y TRfA WR T e <t erafa AaT &
2. TgHI-3MMeTRT UTel & I giF a1t Uiside i & forg famat ur aiter
3. gafaror Sigt Gt St ol WHTd &, 3R Teh gER &l HGE dhed 6 3G
4. QS TR St {R18Teh Sl STOT g T 31T a1 ht STFAf ST &

[ Question ID : 99836739604

Q.18 ‘Explain the purpose of the task’ comes under which stage of productive computer
session?

Ans 1. Stage 2
2. Stage 1
3. Stage 4
4. Stage 3

Question ID : 99836739605

Q.19 Fr=fafea & @ o= @t 5. . ga. @i fatwa/g 8/8?

I.3. . qU. g TSR & &
Il. 3. ft. 9. urifeE &

lIl. 3. AN. o9 SaTEIR dgifas et o w= &t &
IV. 3. ft. oq. faemf FRa g

Ans 1.1 11, T FGar v
2,101 Mraar v
3.1 raar v
4.1, Il qar v

[ Question ID : 99836739588

Q.20 Groups of learning strategies that are more task-specific are called
Ans 1. Cognitive

2. Positive attitude
3. Drafting

4. Metacognitive

[ Question ID : 99836739601
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Section : Discipline5

Q.1 fA=fafae d @ @i o [l am =Y ga & A ga aRasaar grr dqe g+ arfge?

|. T8 |gd & SIgFY g+t A1yl
Il. ag urEfiier ST & 1y guAT & gRT o av g =nful

Ans 1. 3hdd |
2.8 ATarl
3. Faa i
4. | aur |l g

|

Question ID : 99836739620

Q.2 Which of the following statements regarding lesson plan developed by a teacher is/are
correct?

I. It reflects interests and heads of students.
II. It correlates with the teacher’s philosophy of education.

Ans 1.0nly|
2.Both land
3. Neither I nor Il

4. Only I

Question ID : 99836739623

Q.3 50 #fiex & g fAsror & gor aur urh shaen: 4 ;1 & srgura | g1 59 s 7 fraen gu ok
faremar st anfge arfer gur aur ur=t @1 srguTa shae: 9 @ 1 gt wimg?
Ans 1. 50 e

2. 8efl®
3. 40 #fex
4. 70 A=

[ Question ID : 99836739613

Q.4 F=fafEa 7 @ o a/8 wu a8t T8l 8/87
Ans 1. T IgS forah T+t sivr aentor 8, SIad giat &
2. G FaTd Y et aut goft Yot GHeRtor aret Ueh aqeSt @l aif wgl SiraT &
3. Toh AR ISt fSIEehT e 0T TEeRIOT §, i STRId -T61 hal STT ehdT &
4. Geh TS foraeh! aft IRY i 1 rvalrs & il § ol e §H IS el STl 3

[ Question ID : 99836739616

Q.5 Inclusion means the process of

Ans 1. educating children with SEN alongside their peers in mainstream schools
2. educating children with SEN in mainstream schools but in different classes
3. educating children with SEN with same curriculum in special schools

4. educating children with SEN in special schools with different curriculum
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Question ID : 99836739626

Q.6 ulEmiforat geaie & fag Fafaf@a d @ sl F1/d w19 91/8 &rf / wraf @t e | foar s
Heha 87

|. T3 ZRT U TE Tt Y gl Y Tt
I1. uferl, =t snf; ot Tiug
I1l. s it T@a: geaie ofte & TR

Ans 1.%ad |l
2. | gt Il gt
3.1, liaar
4. %ae |

Question ID : 99836739611

Q.7 Which of the following is/are correct about term ‘special educational needs’?

I. Solely pertains to children with disabilities
Il. For childrens with individual educational need

Ans 1.0nly|
2. Only Il
3. Bothland I

4. Neither | nor Il

Question ID : 99836739625

Q.8 et # araferg Y srdfifa & areg @ Terifas e gem & dhm fefefR@a g S sa @
Teh UHTaRnTet foharerema g2

Ans 1. BTH! I Tep UaTId S7ezel h fient T & foTg chgAT Sl are |1 & Gewt ot Feifd e T &
2. BT ot fonelt off adaT Iefaes g8 UR STeTRa Ueh ATeeh daR She & folg gt
3. B &l AoHIfa fome & fawa WR enenika wes Aree foram & forg sgam
4. BT Pl TSI TR TR Yeh ATechIhd ATeeh g o folg g

[ Question ID : 99836739609

Q.9 Qeh UehRR <kl fAT0T @ St BTAT hl Teh TTHTRT STTURUM <kl G21 & & forg fasmga iy
At THETett ol g e AT Uil Y Gk SiE o1 STaTe 37 & R Sruet sifd <t ufthar A
31 afha i A & g siefaa awar &1

Ans 1. 3FJYUT IUTTH
2. UBdTs IUTH
3. A Ugfd
4. TaUifSies 3ur

[ Question ID : 99836739621

Q.10 Which of the following assessment methods can be used to obtain a balanced picture of
the child’s progress in science?

|. Teacher observation
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Il. Concept mapping
lll. Performance on teacher-designed tasks

Ans 1.1, Ilandlll
2.Both land Il
3. Both land Ill
4. Both Il and Il

Question ID : 99836739624

Q.11 3 9 auT 4 fohara o1 e g 95 FUA &1 5 U1 AT 2 foRdter 1 sha I 65 $Ud 81 Tk fohatar
T THT e T 87

Ans 1.10 39
2.207¥9%
3.25%0
4.15 308

Question ID : 99836739614

Q.12 fa== e § fAerer ZRT IUGNT A ST arelt fAsaer wieror s ugfa & aR A f=afaf@a g @
I T1/Q FUT TE 8/87

I. & =R & i dweet ot T iR IR @ier e & w@ifda &

I1. 39 TIReh T T TU T R heA & fAg Tes a1 31k o= == Y ugan & & fog
frenfdaf v Sk far srar 81

Ans 1.&ad |l
2.7g AT
3.1 dur | @t
4. %had |

[ Question ID : 99836739622

Q.13 FR=faf@a & @ w9 a1 ifdrm 322 srerm V1 & wR wR ‘WRd | fafawar aun gaar’ e & fag
fafefa ursa atsrn & enfae forar ST Sendr 82

Ans 1. Rig R Fi fay & fafderar depfa au1 AT &) Ugam ot ol UIfad et §
2. fasy sfagma & aR & S & forg arfSes R Y vepfar 6 eare

3. R ArAToIch-Tikepfad AT & fAfderar fasiwaraefi & e a1 udT aT
4. Gieepfaes fafdear & def & uRfere Feaarstt & faemg & forg aré

Question ID : 99836739608

Q.14 Uk Gier fo foha™ gl & sREeR g1 82
Ans 1.20

2.24
3.18
4.22

[ Question ID : 99836739617

Q.15 Which of the following is/are approach(es) adopted by social scientists in understanding
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sociology?

I. Comparative Approach
IIl. Functionalist Approach
lll. Historical Approach
IV. Statistical Approach

Ans 1.1 1, llland IV
2.1, lland Il
3.1 lhand IV
4.1, llland IV

Question ID : 99836739610

Q.16 Which of the following is NOT a type of model as a learning resource in social science?
Ans 1. Simple model

2. Working model
3. Physical model

4. Sectional model

[ Question ID : 99836739612

Q.17 A symbol having a fixed numerical value is called a
Ans 1. Variable

2. Constant
3. Expression

4. Theorem

Question ID : 99836739618

Q.18 FfafEe § @ Rerart & Ty fra nfafafe s sogkr Rrar srar 82
Ans 1. Gt SR cad R

2. Gt SR SrgH e

3. AT qr Jfawgaroft

4, g1 SR grsi

[ Question ID : 99836739607

Q.19 is the activity of breaking an observation or theory down into simpler concepts in
order to understand it.

Ans 1. reductionism
2. evolution
3. creationism

4. analysis

[ Question ID : 99836739619

Q.20 & RER YT =T34 hT ATH JHUddR gar gl
Ans 1.1
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2. IThT AT

3. 3T U
4.0

Question ID : 99836739615
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